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inclbding decimak
*  Understand and use place vale for decimals,
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< Order number and use a number line for positive
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«  \Work with terminating decimals and their
corresponding fractions
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distributions using the median and range

37 to | significart figure is 40
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Reuwords

Opproximate: To estimate a rumber, amourt or total often using rounding of rumbers to make them easer to catulate wih
Infeager: a ok number that s postive or reglie

nterval: between two points or valies

Medan: 0 messixe of central tenderey (mdde, averaag) found by putting l the, data vales n orcer and findng the midde
valse of the et

Negative: Gy rumber lss than 2evo; witen wih a mits S

Place holder: W use 0 as a place holder to show that there are rore of  particular plice n aomber

Ploce, valie: The, vale of 4 dgt dependng on s plie n a number b our decimal rumber sustem, each phice s 10 tmes
bigggr than the ploce, to s rignt
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Difference between the biggest and smales|

39 % 12
Range.: Biggest valbe — Smallest value
2—3=9

. @) 1 op 0 1@ s 1 G

Medion 7 motk vae

Exampk | Medon putthenorder 3 4 8 4 12 Decimals oes ® terths hundreciths
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Decimal intervals on a number line
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What do | need to be able to | T ! 0 T T e , - 707
do” 5 ,{ l Usrg - 7 tenths’
- 2] [ [T T[] cakulator 07
By the end of this unit you should be able § M Be careful of recurring decimals
to: > .- - —>| 20 | Convert to o decimal eg 1 -03333333
, i Two tenths = one fifth O 3 -03
- Corvert fluently between fractions, - ) This wil gue wou the arsver N x 100 conerts 1o . abovgha .
decimalk & percentages Ore fifth (one whole spit into 5 equal parts) = = = 02 n the smpkest form percentage
Reunords Quarters 1 On a number iine
N Ore. quarter (one whole spit into 4 equal parts) - 1 025 e One whole — spit nto 10 equal parts
Fraction: how many parts of a vihole we hae [ [T Trienty five hundreaths " e terth - L - 01 1
Decimal: o rumber vith a decimal pont used to separate ones, tertrs, hndredtfs efe - ] e S et — ot e 1O et oot
‘ 5 T L T T T T T LI entn — spiil INto equal parls
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-0+ 05+ 002 6 is the numerator 3 | A EN I N FNE N E L 0 pe chart fas 360°
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